SctAE HAE O§l0] U= 0jL| 212 S§X A8

3| A AE!
—_——

&= 4Y/HIFE olnfx]

© HEINRICH KIPP WERK GmbH & Co. KG

o

| —

= 2 E|ol
Moy
HiE 4E: o
OISl Al Brixi 501 HO2 ols) M3 SIxl7} Hats 218 wxlshot
st Rol AZEILIH o] BEE +502 Bojolet LHE B2 I
2 0|8sE = &Lt
HAIZHo| AR HZ El2 £0{0F 5t 2 ElO| CHA| Flo{Lte = XRE

Yx|sHok st= BRol= Bt CE At&E38Hiof gfLCH

Ol e EHXE Sol &2 dx| STl OLE ST 2 AL 8T
= A&LICH ol =g BFE CIRIQI CHA SZHE HAS T HIZ &8
el chetol E 4= A&Lch

THE:

AR HA:

LIAb & 212 ZHAY

o
&= 2 AHQlE A AR 1.4305.

—_—= —
LIAb e2|2 2 &2 E AHQIYA AR 1.4305.
& Axma AHQIBA AEN1.4568.
HAYE a8 ¥itad
M o2
AR A

T
~
0%
b

2|, Z43|M RAL 7021 £ EE|Z! B|= RAL 3020.

2 Al &3 B2 MEE 20L& AL&5Ho4 i{LHOF EFLICE.

MMIA2]:

AT 0|A & K0665.

€7 L{E K0700.

EZXIME 24, e A ZHXE K1290.

EMH MY

Bl A H=Z &R S 2 HE QIS
B C: &=z X US, 2 HEQIS

www.kipp.com - info@kipp.com 1/4



S2tAE HAE 8l 0]

2| A AE
=M

A g0l A= 0jL| A ER

—_ —
ol DL eI~ =
®
D2 ;
| |
5 i '
i w swi
D h9
D1
D3

BIX]

A EE= AF|Q
©

M

AB[QIH|A AR

b | ===
FEHS Ef  Ex & EH SEEE A D D1 D2D3 L L1L2 L3 AE SW1 Fx AE EtY
& 718 A 23 30° EtMd F=
S F1 F2
F N <N
K2000.1004081 A AE FEM 1] ZA3[MRAL7021 4 M8x1 211526,56 16,521,5 4 10 1 3 16
gk %2
K2000.1005081 A AR %%*—j rlLI ZH3|M RAL7021 5 M8x1 211527,56 16,521,5 5 10 1,3 3 16
gt %2
K2000.1105101 A AE %%’L}'T'LI H3|M RAL7021 5 M10x1 2518 32 8 19 25 5 13 13 45 125
ot %42
K2000.1106101 A AE %%*—.:TTI H3|M RAL7021 6 M10x1 2518 33 8 19 25 6 13 18 45 125
ot %2
K2000.1206121 A AE ZEM | H3|M RAL 7021 6 M12x1,52920 39 10 23 31 6 14 1,8 5 19
gk %2
K2000.1208121 A AE ZEM 1| HE|M RAL 7021 8 M12x1,52920 41 10 23 31 8 14 23 5 19
gk %2
K2000.1308161 A AE FEM 1| 43| RAL 7021 8 M16x1,53323 46 1226 36 8 17 2,3 12 38
gk %2
K2000.1310161 A AE %%*—j rlLI 43| RAL 7021 10M16x1,53323 48 1226 36 10 17 2,8 12 38
ot %2
K2000.100408184 A AE ZEEM 1| AMEE w 4 M8x1 211526,5616,521,5 4 10 1 3 16
gt %2 ZH RAL 3020
K2000.100508184 A AE FEM 1| pEE w 5 M8x1 211527,56 16,521,5 5 10 1,3 3 16
ok %{g| Z RAL 3020
K2000.110510184 A AEl —Er?&;! TlLI :.LIE% gt 5 M10x1 2518 32 8 19 25 5 13 1,3 45 12,5
ot %2 ZH RAL 3020
K2000.110610184 A AEl FEM 1| M s W 6 M10x1 2518 33 8 19 25 6 13 18 45 125
gk %2 Z RAL 3020
K2000.120612184 A AE =T*—?A—.: TlLI MEE W 6 M12x1,52920 39 10 23 31 6 14 18 5 19
gt %2 ZH RAL 3020
K2000.120812184 A AR FEM 1| MEE W 8 M12x1,52920 41 10 23 31 8 14 23 5 19
gt %2 ZH RAL 3020
K2000.130816184 A AE -%%*j.‘ TlLI :ﬂi% ) 8 M16x1,53323 46 1226 36 8 17 23 12 38
ot %2 ZH RAL 3020
K2000.131016184 A AE FEM 1| pEE W 10M16x1,53323 48 1226 36 10 17 2,8 12 38
gk %2 ZH RAL 3020
K2000.11004081 A AH|QI Aodx OlR2| ZHEAMRAL7021 4 M8x1 21152656 16,521,5 4 10 1 3 16
A AE]
K2000.11005081 A AE|QI Rtodxd ot22| ZHEMRAL7021 5 M8x1 211527,56 16,5215 5 10 13 3 16
A AE]
K2000.11105101 A AE|Ql Rtodxi otF 2| ZHEAMRAL7021 5 M10x1 2518 32 8 19 25 5 13 1,3 45 125
BllA AL
K2000.11106101 A AE|Ql Atdxi otFEl ZHEAM RAL7021 6 M10x1 2518 33 8 19 25 6 13 18 45 125
flAa AE
K2000.11206121 A AE|Q) Aedd o2l A3 RAL 7021 6 M12x1,52920 39 10 23 31 6 14 18 5 19
A AE!
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



°
=ZAalLAE > Ool= A = AEI L= A
=oAE A O8lo] = 0jL| eIHA FSeix] AEl E= AF|2I
B A AL
=03 ROI:
=/ =
FEHS Ef 2 xE Er] LA A AL D D1 D2D3 L L1L2 L3 AE SW1 Fx A[E ErY
ol 712 =5 23 300 EBH B=
S F1 F2
ok N 2N
K2000.11208121 A AH[QI Aodx OfR 2| ZHE[A RAL 7021 8 M12x1,52920 41 10 23 31 8 14 23 5 19
A AE]
K2000.11308161 A AE|QI Rtodxd ot22| ZH3E|M RAL 7021 8 M16x1,53323 46 1226 36 8 17 23 12 38
A AE]
K2000.11310161 A AE|Q Atedd orF2| 73|44 RAL 7021 10M16x1,53323 481226 36 10 17 28 12 38
gA AE!
K2000.1100408184 A AE|Q Aedx olF 2| pMEE W 4 M8x1 211526,5616,521,5 4 10 1 3 16
BlA AE] ZH RAL 3020
K2000.1100508184 A AE|Ql Aedx ol F 2| pMEE W 5 M8x1 211527,56 16,521,5 5 10 1,3 3 16
A AE] ZH RAL 3020
K2000.1110510184 A EN= | Aod% ot 2| pMEE W 5 M10x1 2518 32 8 19 25 5 13 1,3 45 125
A AE] Z RAL 3020
K2000.1110610184 A AE|2! Atedd ot 2| MEE W 6 M10x1 2518 33 8 19 25 6 13 18 45 125
A AE] ZH RAL 3020
K2000.1120612184 A AE|Ql i orF 2| NE-ASE ) 6 M12x1,52920 39 10 23 31 6 14 18 5 19
A AE] ZH RAL 3020
K2000.1131016184 A AE|Ql Atedd ot M S W 10M16x1,53323 48 1226 36 10 17 28 12 38
A AE] ZH RAL 3020
K2000.1120812184 A AE|QI AHedx ol 22| pME S W 8 M12x1,52920 41 10 23 31 8 14 23 5 19
A AE] ZH RAL 3020
K2000.1130816184 A AE|Ql Aedx ol F 2| pMEE W 8 M16x1,53323 46 1226 36 8 17 23 12 38
BlA AE] Z RAL 3020
K2000.3004081 C AE ZEEM 1| H3|M RAL7021 4 M8x1 211526,56 16,521,5 4 10 1 3 16
gk M2
K2000.3005081 C AE EEM 1| HE|M RAL7021 5 M8x1 211527,56 16,521,5 5 10 1,3 3 16
gt &2
K2000.3105101 C AE Z=M 1] Z5|A RAL7021 5 M10x1 2518 32 8 19 25 5 13 1,3 45 125
gk &2
K2000.3106101 C AE FEM 1| Z5|A RAL7021 6 M10x1 2518 33 8 19 25 6 13 18 45 125
gk &2
K2000.3206121 C AEl ZEM | Z3|A RAL 7021 6 M12x1,52920 39 10 23 31 6 14 18 5 19
ok %2l
K2000.3208121 C AE -%%A—;.' T|L| ZH3|A RAL 7021 8 M12x1,52920 41 10 23 31 8 14 23 5 19
ot {2
K2000.3308161 C AR ZEEM 1| Z43|A RAL 7021 8 M16x1,53323 46 1226 36 8 17 23 12 38
ak 2|
K2000.3310161 C AE FEM 1| Z43|M RAL 7021 10M16x1,53323 48 1226 36 10 17 2,8 12 38
gt X2
K2000.300408184 C AE ZEM 1| AMES w 4 M8x1 211526,5616,521,5 4 10 1 3 16
ot %{2| ZH RAL 3020
K2000.300508184 C A€ FEM 1| NE-ASH ) 5 M8x1 211527,5616,521,5 5 10 1,3 3 16
gk &2 ZH RAL 3020
K2000.310510184 C AEl ZEM 1| MEE W 5 M10x1 2518 32 8 19 25 5 13 1,3 45 125
gk &2 ZH RAL 3020
K2000.310610184 C AE -%%A—;.' T|LI pMEE W 6 M10x1 2518 33 8 19 25 6 13 1,8 45 125
ot %2 Z RAL 3020
K2000.320612184 C AR ZEEM 1| pMEE W 6 M12x1,52920 39 10 23 31 6 14 1,8 5 19
gt %2 Z RAL 3020
K2000.320812184 C AE ZEEM 1| pMEE W 8 M12x1,52920 41 10 23 31 8 14 23 5 19
gt %2 Z RAL 3020
K2000.330816184 C AE FEEM 1| AMES w 8 M16x1,53323 46 1226 36 8 17 23 12 38
ok %{2| ZH RAL 3020
K2000.331016184 C AE FEM 1| AMES w 10M16x1,53323 48 1226 36 10 17 28 12 38
gt &2 ZH RAL 3020
K2000.13004081 C AE|QI Atedd o2l ZH3ARAL7021 4 M8x1 21152656 16,5215 4 10 1 3 16
gA AE]
K2000.13005081 C AE|Q] Atedd orF2| ZHBARAL7021 5 M8x1 211527,56 16,5215 5 10 1,3 3 16
Blla AL
K2000.13105101 C AE|Q Atedd o2l ZH3ARAL7021 5 M10x1 2518 32 8 19 25 5 13 1,3 45 125
flA AE
K2000.13106101 C 2E|Q! Atedd o2l  ZHEARAL7021 6 M10x1 2518 33 8 19 25 6 13 1,8 45 125
Bla AE
K2000.13206121 C AH|QI Aodxf OfR2|  ZHEAM RAL 7021 6 M12x1,52920 39 10 23 31 6 14 18 5 19
dia AR

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 3/4



S2tAE HAE 8l 0]

A AE!
E= 29

ojL| oreaa

= PN

-
0x
I
0%

D2D3 L L1L2 L3 AE SW1 Fx A&

Bt

=

o N

K2000.13208121 C

K2000.13308161 C

K2000.13310161 C
K2000.1300408184 C
K2000.1300508184 C
K2000.1310510184 C
K2000.1310610184 C
K2000.1320612184 C
K2000.1320812184 C
K2000.1330816184 C

K2000.1331016184 C

AEQ]
gia AR
AE|QI
Bla AR
AE|Q]
Bla Ag
2B
Bla Ag
AE|Q]
HlA AE]
AEQ]
A AE]
AH|Ql
dia AR
2B
tla AR
AE|QI
Bla Ag
2B
Bla Ag
AE|Q]
Bla AE

Z3|M RAL 7021

3| RAL 7021

>

L
fol

N
-~

P
>

0

>
fo

X
>

>
fo

N N
oy, oy
>

N —on —on ™ on

fol

>

oN
2
™0

r=
ol

N
-

2

0!
ofn —on —on ™ ofn

r=

ol

N
Al

Y
>

> °
ol

N
-~

P
>

0.
i pal
2 for

oN

8 M12x1,52920 41 10 23 31 8
8 M16x1,53323 46 12 26 36 8
10M16x1,563323 48 1226 36 10
4 M8x1 211526,56 16,521,565 4
5 M8x1 211527,56 16,5215 5
5 M10x1 2518 32 8 19 25 5
6 M10x1 2518 33 8 19 25 6
6 M12x1,52920 39 10 23 31 6
8 M12x1,52920 41 10 23 31 8
8 M16x1,563323 46 12 26 36 8

10M16x1,563323 48 1226 36 10

30° EbM

F1

% N

14 23 5
17 23 12
17 28 12
10 1 3
10 13 3
13 13 45
13 1,8 45
14 18 5
14 23 5
17 23 12
17 28 12

19

38

38

38

38

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

4/4



